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CHel Al APAMIONIE SABRI(FLAISSESH) (cre): xg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Z=EH 1t 390,819 483,764 A\92,945
= 95,000
Al 295,819
FH=R 58 234,4%6 102,116 132,380
= 95,000
Al 139,49
A SRUUOMHIHE 22| (FHAMLSESIA) 234,4%6 102,116 132,380
= 95,000
Al 139,49%
EHHSHOHIE AL 36,000 60,000 24,000
401 Al HIZL 201 36,000 60,000 224,000
01 Al&H| 36,000 60,000 A24,000
OHHSHOHUE A2
1,800,000 *20 Al TH 36,000
HASYOHIE &2t 37,866 39,116 1,250
201 fer= 3| 33,546 31,576 1,970
01 AtR2tc|HI 468 418 50
OHHISEOIIE I A =2
80&x7024~ 123 68
OHAH2HOHIE Uz XM & SF
4 400,000 %14 400
02 S3=4gHl 33,078 31,158 1,920
OEHHSOHIE 22|
51,5002 *54ICH 258
OEHZSOHIHE SHHEE =
5,000 =100 CH 500
OHAH2HOHIE YU 2EIAIAYE R
*= EY 5,400,000& 14 5,400
OLHHSHOLE AIEE FAI2el
250,0002 =100 Al CH 25,000
OHA2d0HLE SE65Es
1,600 *100AI CH* 123 1,920
202 04l 4,320 4,320
01 2LHoIH 4,320 4,320
OHASHOMHLE 2 2te| 0]
4,320,000 *14] 4,320
=SS UFEY AEHe 168,330 0 188,330
= 95,000
Al 63,330
401 AIEHIZ SR THYI 158,330 0 158,330
= 95,000
Al 63,330
01 Al&H| 158,330 0 158,330
CSSSAUFE AL
168,330,000 * 14| 168,330




SA: e
B F)i=x =X
ol Al YTACHOIIIE SBR2|(FLHAS S5 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 95,000
Al 63,330
Oild1d| 2,300 3,000 AT700
801 ofielH 2,300 3,000 AT700
01 Lerolblbl 2,300 3,000 AT700
Ooodil 2,300,000& %14 2,300
Wees (1) 156,323 381,648 N225,325
SIS (HAIEELSIA) 34,650 34,650 0
ke 34,650 34,650 0
802 grat=DIE 34,650 34,650 0
03 JIEtEtE =SS 34,650 34,650 0
OHASHOILE dUE2s= e
2,310,000 * 15A1I CH 34,650
HRHeH KIS (FEAEELESIA) 121,673 346,998 N225,325
FEIANRESER &S 121,673 346,998 N225,325
704 OI& = 121,673 346,998 N225,325
01 &= 121,673 346,998 N225,325
OSEMEtEaI= &=
121,673,000 * 14! 121,673




